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I.  Discussion of method of nTh nXth (explanation of 38 niwn)
a.  “upper” and “lower”: not target, rather method:
i. “upper”:holds hand face up and flips up;
ii. “lower”: holds hand face down and flips down
iii. Source: vv.1-2 - no need to repeat “up” and “down” vis-a-vis Vyv,
1. Rather: 5p:0195 — not “atop” but “towards”
a.  Cannot be: inverse (that 79 derives from yw and »a%::9y >atop, since nnTp
is necessary to teach direction (east)
b.  Numbers: v. 2 nwy 1wR) lower of 1 (7) :: lower of Vyw (27) ; upper of Vyw (1)::upper of 12 (21)
c.  Method: of counting
i. A" DDV NNR ,NNRY NNR ,NNR etc.; NTIN? “3: MNRY DNY ,NNRY NNR ,NNR etc. (each as the local custom)
1. Purpose: of adding nnr with each lower count
2. n”1to keep track
3. prr /v, 1 ar nmaean 199 — to include the upper one with each lower one
II.  nmn 1 and the single base
a. 17 “r. no collection boxes for obligatory “nests” — due to the possibility of admixture (navyn)
i. Suggestion: »" doesn’t allow writing in wTpn (can’t write 2N vs. NaT1)
ii. Proof: our mwn — only 1 base
1. If: writing were allowed, have 2 bases and write 1»W 79
iii. Challenge: "M 1 has collection boxes for Dyp — just for m»”y
1. Rather: navyn is the problem of mixing mxvn of owners who have died
a.  Challenge: why not separate out value of 1 and throw in nYnn o’ (as per the
law regarding moneys that represent a j27p that goes nnn?)
b. Answer: ™ doesn’t accept n1™2
i. Proofl:>" disallows drinking barrel and postdetermining mawyn
1. Challenge: reason given — may break
ii. Proof2: »’s approach to the “options” 21y — doesn’t work
1. Implication: 3 doesn’t accept n113,
a.  But: allows writing (as per boxes)
2. Answer: > is concerned about confusion of 3"n3,
a. Even though: 98 is more volume (and lighter)
b. And: itis necessary (as per nT’ 27) to receive all of the o7 (v. 1)
c.  Therefore: if we accept 1 13, he first picks up the vywn o1,
i. Then: places 790 n7; if 2, the inverse
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